N/
/N

3D MARINEDUTY MOTORS

. i

¥

A .
Ay W RSy -

. % o

- 'E'- o
. = =

3 : :

fe

. t__. |
L. Fed

2 /“L? ,“%

Excellence in Electric Drives and Power Generation



Construction

3D 80-400 marine duty motors have stator house and end-shields
in cast iron, HT200, and top mounted terminal boxes. The motors
are produced according to IEC60034, IEC60072 and IEC60092
standards and are marked with CE.In addition the motors also
comply with the rules and technical specifications of marine class
authorities such as ABS, BV, CCS, DNV, GL, KR, LRS, NK, RINA
and RR.

Voltage and Frequency

Motors are available for frequencies of 50 and 60 Hz, at all standard
voltages, see motor plate for actual voltage. All motors are wide range
wounded. The voltage can vary by up to +/- 5%, without derating.

Maintenance

In normal use maintenance is limited to greasing of the bearings.
All motors in sizes 160 and larger are fitted with grease nipples as
standard. The bearings are lubricated with lithium based grease
class1l. Smaller motors have closed bearing housings and sealed
bearings, and can be considered maintenance free. For severe
operating conditions special bearings can be supplied - for example,
for high ambient temperature and increased speed.

Voltage

Three phase single speed motors can normally be connected for
two different voltage ranges (connection in star — higher voltage,
or delta — lower voltage) with a ratio of\3. This gives a wide
application range and simplified management of ordering and
stockholding.

380420 V Star 220-240'V Dalta
The above connection diagrams are applicable to range wound
motors for supplies of 220-240 V (Delta connection) and 380-420 VV
(Star connection).
Examples:
a) 220-240 V Delta/380-420 V Star — may be labelled 230/400 V
(Standard for motors 3 kW and smaller). Suitable for direct on line
starting on 380-420 V supplies.
b) 380-420V Delta/660-720V Star — may be labelled 400 V Delta
(Standard for motors 4 kW and larger). Suitable for Star/Delta

starting on 380-420 volt supplies or direct on line starting on 660-
720V supplies.

Frequency
Motors wound for 50 Hz supplies can also be used on 60 Hz.
Rated data can be calculated from the table below.

Voltage at Voltage at 60Hz date as % of 50Hz data
50Hz 60Hz Power P Torque M Starting Speed n
torque Mst
230 230 100 83 69 120
230 255 111 92 85 120
400 400 100 83 69 120
400 440 110 92 84 120
400 460 115 96 92 120
400 480 120 100 100 120
525 525 100 83 69 120
525 575 115 96 92 120

Enclosure (Degree of Protection)
Motors are produced in degree of protection IP55 as standard,
but are also available to other standards.

Insulation Class
All motors are wounded with Class F material, but calculated
with temperature rise according to class B at 50Hz.

Balancing
Motors are balanced with a half key. Special degrees of balanc-
ing are available on request.

Standards STANGARD
Motor construction, outputs, and fixing il Ly
dimensions comply with Chinese, Swedish and

International standards.

Thermistors

Protection is provided by thermistors fitted in the frame 160 and up
motor windings, together with a sensing relay. Thermistors are tem-
perature sensitive resistors that at a certain temperature have a wide
change of resistance. The sensing relay can, in turn, be used to e.g.
cut off the supply to the main contactor coil.

Cooling

As standard, the fan and cowl is fitted at the non-drive end (cooling
form IC 411). Other cooling methods can be supplied e.g. separately
driven cooling fan (often used with inverter drives).

Heaters

Motors used in conditions of wide temperature variation or extreme
climatic conditions can be damaged by condensation and dampness
in the windings. In motors fitted with heaters, the windings are heated
to a few degrees above ambient, which is enough to prevent con-
densation. Heaters must not be energised when the motor is runn-
ing. Smaller motors can be heated by supplying a low voltage via
the motor leads, using a supply of 5-10% of the rated voltage bet-
ween two phases. BEVI can fit heaters to all motor sizes.

Ambient Temperature
The motors can operate at ambient 45 “C for marine use. The motor
can also run at higher temperature if derating.

Duty
Continuous duty S1. The motor can also run at S2-S9 duty.

Vibration Speed
The vibration speed complies with Class N of IEC60034-14 as standard.
Class R and S can also be met if required by customer.

Noise Level
The noise level complies with IEC60034-9 as standard.

Mounting arrangements

Faot mounting Foot mounting
B3 V5 B7 B8
- I'r !(‘\\‘i
=) @ on 16
M 1001 M 1011 IM 1051 M 1061 IM 1071
Face mounting Flange mounting
B14 V18 V19 V3
fl i
— —
i
R L
I
-, -,
1M 3601 IM 3611 IM 3631 IM 3001 IM 3011 M 3031
Foot & flange mounting Foot and face mounting
B3/85 V15 By/B14
-
gl g
IM 2001 IM 2011 IM 2031 IM 2101 IM 2111 IM 2131




BEARINGS AND CABLE GLANDS

BEARING SIZE
FRAME SIZE POLES DE NDE CABLE GLAND CAESE g_l}éND

80 2,4,6,8 6204-2Z/C3 6204-27/C3 1X20X1.5

90S 2,4,6,8 6205-2Z/C3 6205-2Z/C3 1X20X%1.5

90L 2,4,6,8 6205-2Z/C3 6205-2Z/C3 1X20X1.5

100L 2,4,6,8 6206-2Z/C3 6206-27/C3 1X20X1.5

112M 2,4,6,8 6206-2Z/C3 6206-2Z/C3 2X25X%1.5

132S 2,4,6,8 6208-22/C3 6208-2Z/C3 2X25X%1.5

132M 2,4,6,8 6208-27/C3 6208-2Z/C3 2X25%X1.5

160M 2,4,6,8 6309/C3 6309/C3 2X40Xx1.5 M16 X 1.5
160L 2,4,6,8 6309/C3 6309/C3 2X40%1.5 M16 X 1.5
180M 2,4,6,8 6311/C3 6311/C3 2X40X1.5 M16 X 1.5
180L 2,4,6,8 6311/C3 6311/C3 2X40X1.5 M16 X 1.5
200L 2,4,6,8 6312/C3 6312/C3 2X50%1.5 M16X1.5
225S 4,6,8 6313/C3 6313/C3 2X50%1.5 M16 X 1.5
225M 2 6312/C3 6312/C3 2X50%x1.5 M16 X 1.5
225M 4,6,8 6313/C3 6313/C3 2X50x1.5 M16 X 1.5
250M 2 6314/C3 6314/C3 2X63X%1.5 M20X 1.5
250M 4,6,8 6314/C3 6314/C3 2X63X%1.5 M20X 1.5
280S 2 6316/C3 6316/C3 2X63X1.5 M20X 1.5
280S 4,6,8 6316/C3 6316/C3 2X63X1.5 M20 X< 1.5
280M 2 6316/C3 6316/C3 2X63X1.5 M20 X 1.5
280M 4,6,8 6316/C3 6316/C3 2X63%X1.5 M20 X 1.5
315S 2 6316/C3 6316/C3 2X63X1.5 M20X 1.5
315S 4,6,8 6319/C3 6319/C3 2X63X%1.5 M20X 1.5
315M 2 6316/C3 6316/C3 2X63X1.5 M20 X 1.5
315M 4,6,8 6319/C3 6319/C3 2X63X1.5 M20 X 1.5
315L 2 6316/C3 6316/C3 2X63X1.5 M20X 1.5
315L 4,6,8 6319/C3 6319/C3 2X63X1.5 M20 X 1.5
355M 2 6319/C3 6319/C3 2X63%X1.5 M20 X 1.5
355M 4,6,8 6322/C3 6319/C3 2X63%x1.5 M20X 1.5
355L 2 6319/C3 6319/C3 2X63X1.5 M20 X< 1.5
355L 4,6,8 6322/C3 6319/C3 2X63X1.5 M20 X 1.5

OPTION
BEARINGS AT V1-MOUNTING
(standard bearings as above also at V1-mounting)

250-V1 2,4,6,8 7314BEP 6314/C3 2X63X1.5 M20X1.5
280-V1 2,4,6,8 7316BEP 6316/C3 2X63X1.5 M20Xx1.5
315-V1 2 7316BEP 6316/C3 2X63%X1.5 M20X1.5
315-V1 4,6,8 7319BEP 6319/C3 2X63X1.5 M20X1.5
355-V1 2 7319BEP 6319/C3 2X63X1.5 M20Xx1.5
355-V1 4,6,8 7322BEP 6319/C3 2X63X1.5 M20X 1.5

Warning: Please refer to the nameplate data when replacing bearing.




<
=
<
QO
-l
<
S
Z
I
O
L
—

186¢€ 0/9°GlL 8'¢C €8l 1T°1 €60 1'96 €'¢901 8.G¢ 96, | 9L 6101 G9/1 786¢ 0€9 ¢-¥100% A<
88G¢ 09671 1T 1€ ¥1'G 260 096 G'lv6 8/G¢ ¢l9 | 269 806 €161 786¢ 099 ¢-€100% ¢
ecle ¥4 4" 8¢C Aa" 9 260 096 ¥'6¥8 8.G¢ 009 | 029 718 oLyl 786¢ 005 ¢-¢100% ¢
Geoe 09zZ'€l 1T 9l A 260 6'G6 0'69. 8.G¢ oS | 299 1€/ 9/21 786¢ (01%1% ¢-17100% ¢
709¢ 0¢s¢lh 08¢ oA’ 08'G 260 6'G6 9'G89 8/G¢ 08¥% 108 199 8¢l 786¢ 00 ¢-ZIN 00Y ae
(474 00GY'L ¥'C Gs'l G/ 060 €'G6 0€29 8/G¢ ocy | aesv 169 €0l 286¢C Gae ¢-LN 00v ae
V744 008¥'L ¥'e 9l gl 06°0 £'G6 0'€29 8.G¢ ocy | 9sv 16G 7€0) ¢86¢ GGe ¢-¢16S¢ ¢
9081 00€6°¢ [ 9l 'L 260 ¥'96 S'0vS 9/G¢ 8/¢ | L6 | 0°8LS C'L68 086¢ Gle ¢-17166¢€ ¢
9191 0082’ [ 9l 'L 260 ¢'96 6'6CY 9/G¢ 00€ | 6€lE| 0Cly 9¢lL. 086¢ (014 ¢ SS€ ag
9l 008€¢C [ 8'l 'L 60 8’16 y'Sve 9/G¢ 0vC | ¢¢SC | 0'LEe £'¢LS 086¢ 00¢ ¢-¢16ledae
1420) 0091 [ 8l 'L 60 916 6'9.C 9/G¢ 26l | ¢C0C | ¥'99C 1’65y 086¢ 091 ¢-116leae
806 00.8°) [ 8'l 'L 160 G'v6 c'ee 9/G¢ 861 1889l | 91dC 8'¢8¢ 086¢ cel ¢-NGLE ae
898 000%'L [ 8l 'L 160 016 L'€6l 9/G¢ el | Vivl | 968l g'lee 086¢ 0Ll ¢-SSleae
0¢. 000%'L [ 8l '/ 160 0'v6 L'€6l 9/G¢ el | Vivl | 998l g'lee 086¢ 0Ll ¢-CIN 08¢ A¢
4% 0,90 €¢ 0¢C Gl 16°0 6'€6 9'8S1 793¢ 801 | 8¢ll | 0¢cal £'€9¢ 0,62 06 ¢-LIN 08¢ ae
809 0v.8°0 €¢ 0¢C Gl 06°0 9'€6 L'yl 793¢ 06 6.6 | 98¢ 9'¢ct 0,62 Gl ¢-S 08¢ d¢
0Ly 0v.G°0 €C 0¢C Gl 06°0 9’6 L'yl ¥95¢ 06 6.6 | 98¢l 9'¢ec 0.,6¢ Gl ¢-¢IN 0S¢ ae
¢8¢ 088€0 €C 0¢C Gl 06°0 0°¢6 6'86 89G¢E 99 44 8’16 9l G96¢ qg ¢-LIN 0S¢ ae
98¢ 0L.20 %4 0¢ Gl 06°0 G'¢6 ¥'l8 41413 ¥S 7’69 08 |'GEl 0962 14 ¢-IN 62¢ ae
1444 08410 €¢C 0¢C Gl 06°0 026 €/9 (0j241% vy | L'6Y S'v9 Ll 096¢ A ¢-¢100¢ d¢
0¢¢ 0€SL0 €¢C 0¢C Gl 06°0 ¥'l6 6'vS (0j241% 9¢ (304 9'CS 1’16 096¢ 0¢ ¢-1700C ¢
99 €680°0 €¢C 07¢ gl 06°0 G'06 L0y 82S¢E ¥9C | L'6C 0'6E G'/9 0¥6¢ [44 ¢-N 08l Ae
8¢l 02900 €C A4 Gl 06°0 006 ¥'ve 91G¢ ¢ee | VSe 0'¢ce ¢'.S 0€6¢ g8l ¢-1091 @g
Pl 67500 €C 44 Gl 680 7’68 ¥'8¢ 916¢ 8l L'0C (A4 (A% 0€6¢ Gl ¢-CIN 09} ae
4] 7700 €C 44 Gl 680 7’88 1'1¢ 916¢ el | ¥SI [4\4 0'¢e 0€6¢ Ll ¢-LN 09} ae
06 €700 o4 A Gl 680 7’88 1'1¢ 91G¢ el | ¥Sl ¢0¢ 0S¢ 0€6¢ Ll ¢-NZel ae
09 €€100 o4 A Gl 88°0 0'/8 L'yl 08¥¢ 6 L0l L'yl v've 0062 Sl ¢-¢S el ae
99 €100 o4 A Gl 88°0 1’98 0Ll 08¢ 99 08 gol ¢'8l 0062 g'g ¢-1S el ae
¥S €100 €C A4 Gl 88°0 1’98 0Ll 08¥¢ 99 08 gol 8l 0062 g'g ¢CNZLl ae
014 85000 €C 44 Gl 88°0 18 '8 9G¥e h4 6'S 8L el 088¢ 14 ¢INZLL ae
0¢ 1€00°0 €T % gl 180 978 6¢'9 4%4% 9¢ | 6S9Y €09 1445 098¢ € ¢-1001 @€
¥ 12000 €C 44 0. G8'0 018 18y 80v¢ ¥9¢ | 19¢ 19y 86, 08¢ [ ¢-106 A€
8l G000 o4 44 0. ¥8°0 G'8L 443 80v¢ 8l 0S¢ 8C'¢ 89S 08¢ gl ¢-S06Q¢
145 01000 o4 A 0. ¥8°0 9. 69°C 80¥¢ cel | 681 87'c 0Ey 08¢ L'l ¢-208 ¢
4} 80000 €C A }'9 €80 0L 28| 14443 60 | €€°) |74 10°¢ G¥8¢ 6.0 ¢-108 ¢
By B UN/Xewy UN/eIN uj/ej 5s02 % ZH09 A09¥ ZH09 ZH09 | AS2S | AOOY NOET ZH0S ZH0S E\._ occm
z 0
(¢g) | (r)emaur |ones anbioy | onjes anbio} jones Juaina | 10joey N08Y-0VY wdi paads [ my A0Z-08€ | A0¥2-02Z | widi paads | My
sse|N |jojuswoly | 3Inojnd Buies Buiuels | J1amod [Aouarony3 |(v) Jusino peoj jing| peoj|ind [4amod | zHos (V) Juaiina peoj |in4 | peoj|ind |Jamod

sajod Jo JaquinN




TEC NICAL DATA

685€ 02£'TC ve'e 53 18'S 16°0 1'96 £'880T 06.T 9/ |L¥6L| ev0T | §908T 2671 029 ¥-€1 00V A€
8yse 029°6T 19T 20'C ¥9'9 06°0 1'96 7796 06.T 7.9 |ovoL | w26 | 0091 2671 095 v-2100v Ag
Z€TE 017’87 X4 €8'T 6T°9 06°0 '96 1198 06.T 009 [Teeo| Tes €'6ErT 67T 005 ¥-11007 Qg
7453 0£9'ST 18T €0 ¥8'9 06°0 1'96 978 06.T ors |vTi6| 082 0'662T 67T 0S¥ v-ZW 007 A€
98/ 05677 61T 26T 199 060 0'96 0'69 06.T 08y |¥L0S| 999 G'ESTT 2671 00% ¥-TW 007 A€
0002 00Z'TT v'C X4 G/ 060 1’6 2'629 88/T ozy |v6Sy | €09 | #vOT 0671 GGe ¥-2719G€ g
8181 01507 2t 1 6'9 06°0 7'56 8'€5G 88/T 8¢ |evor | L0es | Z6T6 0671 GTe -1 S5€ A€
£v9T 00£€'8 4 12 6'9 06°0 7'56 G'6EY 88/T 00c |60z | zTey | g62L 0671 052 v-IN GSE ag
A4 0088'¥ 44 12 6'9 680 6'76 L'95¢ 9117 ovz |09z | 8TvE | 0765 08¥1 002 v-21S1€ A
90T 00£0'Y 44 12 6'9 680 6'76 £'687 91T Z6T [€e80z | vee | el 08¥1 09T y-T16TE ¢
956 007E'E 7t 12 6'9 88°0 8'76 £'8€7 91T |vest|oviT| 822 | 96 08T ZeT v-IN GTE ag
868 00/6C 7t 12 6'9 88°0 G'v6 7'66T 9/.1T zeT [vsvt | 606T | 90ee 08T 01T ¥-S STE A€
1L 00/6'C 2t T2 6'9 880 S'v6 2'66T 9.1 ZeT |vsvT | 6061 [ 90ee 0871 01T -2 082 Ag
909 007S'T X4 2 A 180 6'¢6 6'S9T 91T 80T |T'Ter | 06ST | ¥'S/C 0871 06 v-TIN 082 Q€
218 00£2'T e 2 Zl 180 9'¢6 8'8eT 91T 06 |€T0T | 0€€T | t0€T 0871 Gl -S 08¢ g
Ll 00£2'T ¥4 2 Zl 1870 9'¢6 8'8eT 91T 06 |€T0T| 0€eT | t0eT 08¥1 Gl v-ZIN 052 a¢
90% 08.L0 X4 27 7! 1870 0'€6 20T 91T 99 | LvL | 186 6'69T 08T as ¥-TI 052 A€
vTe 00950 X4 27 4 180 G'Z6 718 0LLT vg [ 19 [ 208 8'6ET GIyT Sy v-IN GZZ ag
8/¢ 0850 X4 2 7! 180 0'26 9'69 0LLT vy | 805 | 299 G'qTT GI9T L€ ¥-S Ggz ag
(244 0892'0 ¥ 2t L 98°0 7’16 G'/G v9.T oc | oar | 1SS 1'G6 0LrT 0 ¥-100C Q€
08T 0v9T'0 €'e 2t G/ 98°0 G'06 92y ¥9.T voz | T1€ | 80Ov L'0L 0L¥T 2 ¥-108T A€
291 0.7T°0 €'e 2t G/ 98°0 0'06 0'9¢ v9.LT zee | €92 | ove 8'65 0L¥T G'8T -IN 08T A€
0ST 090T°0 X4 2 G/ 680 1'68 L'6¢ ZS8LT 8T | LT¢ | g8z 7’6y 09%1 qT v-109T g
90T 86,00 X4 2t 0L 80 '88 X744 ZS8LT zer [ g9t | vz e 09%1 1 -IN 09T A€
/8 86,00 X4 2t 0. 80 '88 PX44 28LT zer | g9t | vie e 09%T TT v-ZN 2ET ag
0. 15€0'0 £ X4 0L 80 0'/8 'GT 82T 6 |11 | 8T 9'GZ oyt G/ 7-T 2€T ag
9 ¥520'0 £ X4 0L €80 /'S8 L'TT 8Z.T 99 | g8 21T 7'6T orvT g'q -S ¢€T ag
G5 ¥520°0 £ X4 0L €80 /'S8 LT 8¢.T 99 | 98 T 7’67 orvT g'q 7-ZWZTT A
v 86000 ¥4 X4 0L 280 8 7.8 et gy | €9 | oc8 &’ GEVT v v-TWZTT ag
€ 8800°0 X4 £ 0L 78°0 928 19'9 2697 9¢ | 287 [ 6g9 L0'TT 0TyT g ¥-21 00T A€
0 G900°0 €T € 0L 18°0 078 G0'S 26971 v9C | 69€ | w81 8¢'8 0TyT 2t ¥-1700T A€
2 GE00'0 X4 €7 09 6.0 68l ¥9'€ 8997 g1 [ 99z [ eve ¥0'9 06€T g1 ¥-106 AS
81 92000 X4 €7 09 110 79 €87 8991 €T |0z | 11T 697 06€T 1T ¥-S 06 A€
91 /7000 £ X4 09 9.0 0'€L €0°C 9597 60 | 6¥T [ S6T 8¢ 08€T G0 -2 08 €
T £700°0 £ v'C ZS G0 0T. 65’7 8997 990 | ¥TT | 67T 857 06€T G50 -7 08 A€
b w/4 009T
X 6 UN/XeWN UN/eI ujre| $S02 % ZH09 A09Y ZH09 | zHO9 [ ASZS | AoO¥ | AOEZ ZHOS | zHOS
(eg) | (c)enisur |onesanbioy | oires anbiol |oilel JUsLINI| 1019EY 080V wdi psads| My NOZY-08€ [AOY2-02Z [ wd) paads [ my
SSe\ JO JUSWON 1n0 ||nd m:_tmum mc_tﬂw 19aMO0d >ocm_o_tm 9& ualind peoj [[nd4| peoj|n4 |I18MOd | ZHOS ?o 1ualind peoj ||n4 peoj ||n4 |[Jamod

sajod jo JaquinN




TECHNICAL DATA

Number of poles
Power| Fullload | Full load current (A) 50Hz | Power| Fullload |Full load current (A)|Efficiency| Power | Starting Starting Pullout |Moment of| Mass
kW | speed rpm | 220-240V | 380-420V kW | speed rpm 440-430V factor | current ratio| torque ratio | torque ratio | inertia (J) | (B3)
50Hz | 50Hz 230V 400V | 525V  60Hz | 60Hz 460V 60Hz % cos¢ la/ln Ma/Mn Mmax/Mn kgm’ kg
1000 r/m
3D 801-6 0.37 885 213 1.23 0.94 | 044 1062 1.28 62.0 0.70 4.7 19 2.0 0.0017 15
3D 80 2-6 0.55 885 2.94 1.70 1.30 | 0.66 1062 1.77 65.0 0.72 4.7 1.9 2.1 0.0022 16
3D 90 S-6 0.75 910 3.78 2.18 1.66 [ 0.9 1092 2.27 69.0 0.72 55 2.0 2.1 0.0033 20
3D90L-6 1.1 910 5.23 3.02 | 230 | 1.32 1092 3.15 72.0 0.73 5.5 2.0 2.1 0.0045 22
3D 100L-6 15 920 6.58 380 |29 | 18 1104 397 76.0 0.75 55 2.0 241 0.0081 28
3D 112 M-6 22 935 9.18 5.30 4.04 | 2.64 1122 5.53 79.0 0.76 6.5 2.0 2.1 0.0150 38
3D 132 S-6 3 960 12.18 7.03 536 | 3.6 1152 7.34 81.0 0.76 6.5 2.1 2.1 0.0290 58
3D 132 M1-6 4 960 16.1 9.3 71 | 48 1152 9.7 82.0 0.76 6.5 2.1 2.1 0.0390 68
3D 132 M2-6 H19) 960 213 12.3 94 6.6 1152 12.8 84.0 0.77 6.5 2.1 2.1 0.0530 76
3D 160 M-6 75 970 28.2 16.3 124 9 1164 17.0 86.0 0.77 6.5 2.0 2.1 0.0897 106
3D 160 L-6 11 970 40.4 23.3 17.8 | 13.2 1164 24.3 87.5 0.78 6.5 2.0 2.1 0.1270 130
3D 180 L-6 15 970 52.0 300 | 229 | 18 1164 313 89.0 0.81 7.0 2.0 21 0.2140 176
3D 200 L1-6 18.5 980 63.4 36.6 279 | 22.2 1176 38.2 90.0 0.81 7.0 2.1 2.1 0.3190 216
3D 200 L2-6 22 980 73.6 42.5 324 | 264 1176 44.3 90.0 0.83 7.0 2.1 2.1 0.3690 226
3D 225 M-6 30 980 97.5 56.3 429 | 36 1176 58.7 91.5 0.84 7.0 2.0 2.1 0.5860 292
3D 250 M-6 37 980 116.9 67.5 514 | 444 1176 70.4 92.0 0.86 7.0 2.1 2.1 0.9400 364
3D 280 S-6 45 980 1413 816 | 622 | 54 1176 85.1 92.5 0.86 7.0 2.1 2.0 1.7100 472
3D 280 M-6 55 980 172.3 995 | 758 | 66 1176 103.8 92.8 0.86 7.0 2.1 2.0 2.1500 512
3D 315 S-6 75 980 2331 1346 | 102.6 | 90 1176 140.5 93.5 0.86 7.0 2.0 2.0 3.4500 806
3D 315 M-6 90 980 278.9 161.0 | 122.7| 108 1176 168.0 93.8 0.86 7.0 2.0 2.0 4.0800 958
3D315L1-6 110 980 340.2 | 1964 | 1496 132 1176 204.9 94.0 0.86 6.7 2.0 2.0 5.0600 990
3D 315L2-6 132 980 402.7 | 2325 |177.1[ 1584 | 1176 242.6 94.2 0.87 6.7 2.0 2.0 5.8400 1050
3D 355 M1-6 160 990 479.8 277.0 | 211.0| 192 1188 289.0 94.5 0.88 6.7 19 2.0 9.5300 1634
3D 355 M2-6 200 990 601.0 347.0 | 264.4| 240 1188 362.1 94.5 0.88 6.7 1.9 2.0 11.800 1772
3D 355L-6 250 990 750.0 [ 433.0 |329.9( 300 1188 451.8 94.5 0.88 6.7 1.9 2.0 14.800 1784
3D 400 M1-6 315 994 956.1 552 | 420.6 | 378 1193 576.0 95.8 0.86 5.91 1.83 23 18.210 3003
3D 400 M2-6 355 994 1080.8 624 | 4754 426 1193 651.1 95.9 0.86 5.89 1.86 2.3 19.320 3410
3D 400 L1-6 400 994 12141 701 534.1] 480 1193 731.5 95.9 0.86 6.38 2.08 2.5 21.860 3558
3D 400 L2-6 450 994 1356.2 783 596.6 | 540 1193 817.0 95.9 0.86 6.31 2.07 24 22.310 3841
3D 400 L3-6 500 994 1508.6 871 [ 663.6| 600 1193 908.9 96.1 0.86 5.72 1.86 2.2 23.520 3866
3D 400 L4-6 560 994 1659.3 958 | 7299 672 1193 999.7 96.1 0.86 5.88 1.95 2.2 24.460 4140
Number of poles
Power| Fullload | Full load current (A) 50Hz | Power| Full load |Full load current (A)| Efficiency| Power | Starting Starting Pullout |Momentof| Mass
kW | speed rpm |220-240V | 380-420V kW | speed rpm 440-430V factor | current ratio| torque ratio | torque ratio | inertia (J) | (B3)
50Hz | 50Hz 230V 400V | 525V | 60Hz [ 60Hz 460V 60Hz % cos¢ la/ln Ma/Mn Mmax/Mn kgm* kg
750 r/m
3D801-8 0.18 645 1.45 0.84 | 0.64 | 0.21 774 0.88 51.0 0.61 33 1.8 1.9 0.0020 16
308028 0.25 645 1.91 110 | 084 | 03 774 1.15 54.0 0.61 33 1.8 1.9 0.0024 18
3D 90 S-8 0.37 670 2.44 141 1.07 | 0.44 804 147 62.0 0.61 4.0 1.8 1.9 0.0039 26
3D 90 L-8 0.55 670 3.59 2.07 1.58 | 0.66 804 2.16 63.0 0.61 4.0 1.8 2.0 0.0048 28
3D 100 L1-8 0.75 680 3.95 228 | 174 09 816 2.38 71.0 0.67 4.0 18 2.0 0.0072 30
3D 100 L2-8 1.1 680 5.46 315 | 240 | 1.32 816 3.29 73.0 0.69 5.0 1.8 2.0 0.0081 32
3D 112 M-8 15 690 7.24 4.18 318 | 1.8 828 4.36 75.0 0.69 5.0 1.8 2.0 0.0140 40
3D 132 S-8 2.2 705 9.92 5.73 4.37 | 2.64 846 5.98 78.0 0.71 6.0 1.8 2.0 0.0320 58
3D 132 M-8 3 705 13.0 7.5 5.7 3.6 846 7.8 79.0 0.73 6.0 1.8 2.0 0.0392 68
3D 160 M1-8 4 720 16.9 9.76 74 | 48 864 10.2 81.0 0.73 6.0 1.9 20 0.0635 98
3D 160 M2-8 5.5 720 22.3 12.9 9.8 6.6 864 13.5 83.0 0.74 6.0 2.0 2.0 0.0897 110
3D 160 L-8 75 720 29.3 16.9 12.9 9 864 17.6 85.5 0.75 6.0 2.0 2.0 0.1270 132
3D 180 L-8 11 730 41.4 23.9 18.2 | 132 876 24.9 87.5 0.76 6.6 2.0 2.0 0.2140 176
3D200L-8 15 730 56.1 324 | 247 | 18 876 33.8 88.0 0.76 6.6 2.0 2.0 0.3490 232
3D 225 S-8 18.5 730 67.5 39.0 29.7 | 22.2 876 40.7 90.0 0.76 6.6 1.9 2.0 0.5200 268
3D 225 M-8 22 730 77.9 45.0 343 | 264 876 47.0 90.5 0.78 6.6 1.9 2.0 0.6200 288
3D 250 M-8 30 735 104.3 60.2 459 [ 36 882 62.8 91.0 0.79 6.6 1.9 2.0 0.8900 372
3D 280 S-8 37 735 128.0 739 | 56.3 | 444 882 7741 91.5 0.79 6.6 1.9 2.0 1.7100 472
3D 280 M-8 45 735 154.8 894 | 681 | 54 882 933 92.0 0.79 6.6 1.9 2.0 2.1500 530
3D 315S-8 55 735 182.9 1056 | 80.5 | 66 882 110.2 92.8 0.81 6.6 1.8 2.0 3.7900 804
3D 315 M-8 75 735 248.9 1437 | 109.5[ 90 882 149.9 93.0 0.81 6.6 1.8 2.0 5.2000 1000
3D315L1-8 90 735 2925 | 168.9 [128.7] 108 882 176.2 93.8 0.82 6.6 1.8 2.0 6.1900 1018
3D 315L2-8 110 735 356.8 206.0 | 157.0 [ 132 882 215.0 94.0 0.82 6.4 1.8 2.0 7.2600 1118
3D 355 M1-8 132 740 4295 | 2480 | 189.0 | 1584 888 258.8 93.7 0.82 6.4 1.8 2.0 11.850 1584
3D 355 M2-8 160 740 517.9 299.0 | 227.8 | 192 888 312.0 94.2 0.82 6.4 1.8 2.0 14.500 1734
3D 355 L-8 200 740 637.4 368.0 | 280.4 | 240 888 384.0 94.5 0.83 6.4 1.8 2.0 18.120 1850
3D 400 M1-8 250 745 788.1 4550 | 346.7 | 300 894 474.8 95.3 0.84 6.29 1.85 248 25.630 2914
3D 400 M2-8 280 745 8712 | 503.0 [383.2] 336 894 524.9 95.3 0.84 5.90 1.71 2.31 26.520 3070
3D 400 L1-8 315 745 980.3 566.0 | 431.2| 378 894 590.6 95.5 0.85 6.13 1.81 2.38 27.860 3392
3D 400 L2-8 355 745 11102 [ 641.0 | 488.4| 426 894 668.9 95.6 0.85 5.84 1.72 2.25 29.760 3592
3D 400 L3-8 400 740 1252.2 | 723.0 ] 550.9 [ 480 888 754.4 95.6 0.85 6.39 1.96 244 31.340 3949




F | |, B A0
oH |
n s _I i
o T p |
» o B
=7 ¥ e T D
= - =1 T
&+ H LOH—E—
= | . =
= = T
. ol =
1 ! Fecy WA L |
SAALLL A Ih
|- AR -
s 3] -l | Lo -
rame Si e| Poles A B C D E G D AB AC AD D L
80 2,4,6,8 125 | 100 50 19 40 6 155 | M6 80 10 165 | 165 | 165 | 245 | 295
90S 2,4,6,8 140 | 100 56 24 50 8 20 M8 90 10 180 | 180 | 175 | 265 | 315
90L 2,4,6,8 140 | 125 56 24 50 8 20 M8 90 10 180 | 180 | 175 | 265 | 340
100L 2,4,6,8 160 | 140 63 28 60 8 24 | M10 | 100 12 205 | 205 | 200 | 290 | 385
112M 2,4,6,8 190 | 140 70 28 60 8 24 | M10 | 112 12 230 | 240 | 220 | 325 | 400
132S 2,4,6,8 | 216 | 140 89 38 80 10 33 M12 | 132 12 270 | 275 | 240 | 365 | 470
132M 2,4,6,8 | 216 | 178 89 38 80 10 33 M12 | 132 12 270 | 275 | 240 | 365 | 510
160M 2,46,8 | 254 | 210 | 108 42 110 12 37 M16 | 160 15 320 | 320 | 285 | 440 | 620

160L 2468 | 254 | 254 | 1

o

8 42 110 12 37 | M16 | 160 15 320 | 320 | 285 | 440 | 675

180M 2468 | 279 | 241 | 121 48 110 14 | 425 | M16 | 180 15 355 | 380 | 310 | 470 | 700

N

180L 2,468 | 2 2719 | 1

~
©
N

1 48 110 14 | 425 | M16 | 180 15 355 | 380 | 310 | 470 | 740

200L 246,8 | 318 | 305 | 133 55 110 16 49 M20 | 200 19 395 | 410 | 335 | 525 | 775

w

225S 4,6,8 356 | 286 | 149 60 140 18 53 | M20 | 225 19 435 | 470 | 370 | 580 | 820
225M 2 356 | 311 | 149 55 110 16 49 | M20 | 225 19 435 | 470 | 370 | 580 | 815
4,6,8 356 | 311 | 149 60 140 18 53 | M20 | 225 19 435 | 470 | 370 | 580 | 845

— 2 406 | 349 | 168 60 140 18 53 | M20 | 250 24 490 | 490 | 380 | 635 | 930
4,6,8 406 | 349 | 168 65 140 18 58 | M20 | 250 24 490 | 490 | 380 | 635 | 930

2805 2 457 | 368 | 190 65 140 18 58 | M20 | 280 24 550 | 580 | 410 | 698 | 981
4,6,8 457 | 368 | 190 75 140 20 | 67.5 | M20 | 280 24 550 | 580 | 410 | 698 | 981

280M 2 457 | 419 | 190 65 140 18 58 | M20 | 280 24 550 | 580 | 410 | 698 | 1032
4,6,8 457 | 419 | 190 75 140 20 | 67.5 | M20 | 280 24 550 | 580 | 410 | 698 | 1032

Es 2 508 | 406 | 216 65 140 18 58 | M20 | 315 28 630 | 645 | 535 | 885 | 1185
4,6,8,10 | 508 | 406 | 216 80 170 22 71 | M20 | 315 28 630 | 645 | 535 | 885 | 1215

S 2 508 | 457 | 216 65 140 18 58 | M20 | 315 28 630 | 645 | 535 | 885 | 1295
4,6,8,10 | 508 | 457 | 216 80 170 22 71 | M20 | 315 28 630 | 645 | 535 | 885 | 1325

AL 2 508 | 508 | 216 65 140 18 58 | M20 | 315 28 630 | 645 | 535 | 885 | 1295
4,6,8,10 | 508 | 508 | 216 80 170 22 71 | M20 | 315 28 630 | 645 | 535 | 885 | 1325

355M 2 610 | 560 | 254 75 140 20 | 67.5 | M20 | 355 28 730 | 720 | 650 | 1065 | 1495
4,6,8,10 | 610 | 560 | 254 95 170 25 86 | M24 | 355 28 730 | 720 | 650 | 1065 | 1525

355L 2 610 | 630 | 254 75 140 20 | 67.5 | M20 | 355 28 730 | 720 | 650 | 1065 | 1495
4,6,8,10 | 610 | 630 | 254 95 170 25 86 | M24 | 355 28 730 | 720 | 650 | 1065 | 1525

a5 2 686 | 710 | 280 85 170 22 76 | M24 | 400 36 806 | 860 - 1075 | 1820

4,6,8 686 | 710 | 280 | 120 | 210 28 100 | M24 | 400 36 806 | 860 = 1075 | 1881




F b .| 235

a|[# - BE Tt \T
'_ D :L _I' f T— e
i A ’ i - — P e -
!-F'--‘ ¢ © : S
o 1 . : A\ 77
{ | 1& — | L ] . " 1 ﬂ: s “3 r
Al
B B0-260 80-200 225-200
5
Frame Size Poles D E F G DH H M N P S T AC AD L
80 2,4,6,8 19 40 6 15.5 M6 80 165 130 200 12 3.5 165 165 295
90S 2,4,6,8 24 50 8 20 M8 90 165 130 200 12 3.5 180 175 315
o0L 2,4,6,8 24 50 8 20 M8 90 165 130 200 12 3.5 180 175 340
100L 2,4,6,8 28 60 8 24 M10 100 215 180 250 15 4 205 200 385
112M 2,4,6,8 28 60 8 24 M10 | 112 215 180 250 15 4 240 220 400
1328 2,4,6,8 38 80 10 33 M12 132 265 230 300 15 4 275 240 470
132M 2,4,6,8 38 80 10 33 M12 132 265 230 300 15 4 275 240 510
160M 2,4,6,8 42 110 12 37 M16 | 160 300 250 350 19 5 320 285 620
160L 2,4,6,8 42 110 12 37 M16 | 160 300 250 350 19 5 320 285 675
180M 2,4,6,8 48 110 14 425 | M16 180 300 250 350 19 5 380 310 700
180L 2,4,6,8 48 110 14 42.5 | M16 180 300 250 350 19 5 380 310 740
200L 2,4,6,8 55 110 16 49 M20 | 200 350 300 400 19 5 410 335 775
2258 4,6,8 60 140 18 53 M20 | 225 400 350 450 19 5 470 370 820
295M 2 55 110 16 49 M20 | 225 400 350 450 19 5 470 370 815
4,6,8 60 140 18 53 M20 | 225 400 350 450 19 5 470 370 845
2 60 140 18 53 M20 | 250 500 450 550 19 5, 490 380 930
250M 4,6,8 65 140 18 58 M20 | 250 500 450 550 19 5 490 380 930
2 65 140 18 58 M20 | 280 500 450 550 19 5 580 410 981
2608 4,6,8 75 140 20 67.5 | M20 | 280 500 450 550 19 5 580 410 981
280M 2 65 140 18 58 M20 | 280 500 450 550 19 5 580 410 | 1032
4,6,8 75 140 20 67.5 | M20 | 280 500 450 550 19 5 580 410 | 1032
Bi14A Bl14B
B 5 1 KK as -
s - - 3 1 F = = | & . ¥
e i) . | . oM T A E |
L ,.f- o 2 - {ARLLL g G:i’f‘.' I 1} - <
R i N b 0
X ——— L‘.- g I‘-.:. _':_' i LN} - 5 } -.'-..“ ..
I '-._.'.:.J_L?'_,' n "1l| 1 o ‘
FE ] 3 '
L E L
B14A
Frame Size Poles D E F G DH H M N P S T AC AD L
80 2,4,6,8 19 40 6 15.5 M6 80 100 80 120 M6 3 165 165 295
90S 2,4,6,8 24 50 8 20 M8 90 115 95 140 M8 3 180 175 315
90L 2,4,6,8 24 50 8 20 M8 90 115 95 140 M8 3 180 175 340
100L 2,4,6,8 28 60 8 24 M10 100 130 110 160 M8 3.5 205 200 385
112M 2,4,6,8 28 60 8 24 M10 | 112 130 110 160 M8 3.5 240 220 400
1328 2,4,6,8 38 80 10 33 M12 132 165 130 200 | M10 3.5 275 240 470
132M 2,4,6,8 38 80 10 33 M12 132 165 130 200 M10 3.5 275 240 510
B14B
Frame Size| Poles D E F G DH H M N P S T AC AD L
80 2,4,6,8 19 40 6 15.5 M6 80 130 110 160 M8 3.5 165 165 295
90S 2,4,6,8 24 50 8 20 M8 90 130 110 160 M8 3.5 180 175 315
o0L 2,4,6,8 24 50 8 20 M8 90 130 110 160 M8 3.5 180 175 340
100L 2,4,6,8 28 60 8 24 M10 | 100 165 130 200 | M10 3.5 205 200 385
112M 2,4,6,8 28 60 8 24 M10 112 165 130 200 M10 3.5 240 220 400
1328 2,4,6,8 38 80 10 33 M12 | 132 215 180 250 | M12 4 275 240 470
132M 2,4,6,8 38 80 10 33 M12 | 132 215 180 250 | M12 4 275 240 510




G

- S
W&L)) T .
L W e @
w:_‘_z A/ !
! | I |
80-200 225-400
V1
Frame Size| Poles D E F G DH H M N P S T AC AD L
80 2,4,6,8 19 40 6 155 M6 80 | 165 | 130 | 200 | 12 35 | 165 | 165 | 345
90S 2,4,6,8 24 50 8 20 M8 90 165 | 130 | 200 12 3.5 180 | 175 | 365
90L 2,4,6,8 24 50 8 20 M8 90 165 | 130 | 200 12 3.5 180 | 175 | 390
100L 2,4,6,8 28 60 8 24 | M10| 100 | 215 | 180 | 250 | 15 4 205 | 200 | 435
112M 2,4,6,8 28 60 8 24 M10 | 112 | 215 | 180 | 250 15 4 240 | 220 | 450
132S 2,4,6,8 38 80 10 33 | M12 ] 132 | 265 | 230 | 300 | 15 4 275 | 240 | 520
132M 2,4,6,8 38 80 10 33 | M12 ] 132 | 265 | 230 | 300 | 15 4 275 | 240 | 560
160M 2,4,6,8 42 | 110 | 12 37 | M16 | 160 | 300 | 250 | 350 | 19 5 320 | 285 | 670
160L 2,4,6,8 42 110 12 37 M16 | 160 | 300 | 250 | 350 19 5 320 | 285 | 725
180M 2,4,6,8 48 | 110 | 14 | 425 | M16 | 180 | 300 | 250 | 350 | 19 5 380 | 310 | 760
180L 2,4,6,8 48 | 110 | 14 | 425 M16 | 180 | 300 | 250 | 350 | 19 5 380 | 310 | 800
200L 2,4,6,8 55 | 110 | 16 49 | M20 | 200 | 350 | 300 | 400 | 19 5 410 | 335 | 845
2258 46,8 60 | 140 | 18 53 | M20 | 225 | 400 | 350 | 450 | 19 5 470 | 370 | 915
925\ 2 55 | 110 | 16 49 | M20 | 225 | 400 | 350 | 450 | 19 5 470 | 370 | 910
4,6,8 60 140 18 53 M20 | 225 | 400 | 350 | 450 19 5 470 | 370 | 940
] 2 60 | 140 | 18 53 | M20 | 250 | 500 | 450 | 550 | 19 5 490 | 380 | 1035
4,6,8 65 | 140 | 18 58 | M20 | 250 | 500 | 450 | 550 | 19 5 490 | 380 | 1035
2808 2 65 | 140 | 18 58 | M20 | 280 | 500 | 450 | 550 | 19 5 580 | 410 | 1115
4,6,8 75 | 140 | 20 | 67.5]| M20 | 280 | 500 | 450 | 550 | 19 5 580 | 410 | 1115
280M 2 65 | 140 | 18 58 | M20 | 280 | 500 | 450 | 550 | 19 5 580 | 410 | 1157
4,6,8 75 140 20 | 67.5 | M20 | 280 | 500 | 450 | 550 19 5 580 | 410 | 1157
I 2 65 140 18 58 M20 | 315 | 600 | 550 | 660 24 6 645 | 535 | 1310
46,810 | 80 | 170 | 22 71 | M20 | 315 | 600 | 550 | 660 | 24 6 645 | 535 | 1340
Y] 2 65 | 140 | 18 58 | M20 | 315 | 600 | 550 | 660 | 24 6 645 | 535 | 1425
46,810 | 80 | 170 | 22 71 | M20 | 315 | 600 | 550 | 660 | 24 6 645 | 535 | 1450
AL 2 65 | 140 | 18 58 | M20 | 315 | 600 | 550 | 660 | 24 6 645 | 535 | 1425
46,810 | 80 | 170 | 22 71 | M20 | 315 | 600 | 550 | 660 | 24 6 645 | 535 | 1450
355M 2 75 140 20 | 67.5| M20 | 355 | 740 | 680 | 800 24 6 720 | 700 | 1640
468,10 | 95 | 170 | 25 86 | M24 | 355 | 740 | 680 | 800 | 24 6 720 | 700 | 1670
3551 2 75 | 140 | 20 | 67.5| M20 | 355 | 740 | 680 | 800 | 24 6 720 | 700 | 1640
46,810 | 95 | 170 | 25 86 | M24 | 355 | 740 | 680 | 800 | 24 6 720 | 700 | 1670
G 2 85 | 170 | 22 76 | M24 | 400 | 940 | 880 | 1000 | 28 6 810 - 1980
4,6,8 120 | 210 | 28 | 100 | M24 | 400 | 940 | 880 | 1000 | 28 6 810 - | 2040




G Y i -
Lo
80-200 225-400
B0-400
B35

Frame Size| Poles A B © D E F G DH H K M N P S T AB AC AD HD L
80 2,4,6,8 125 | 100 50 19 40 6 15.5 | M6 80 10 165 | 130 | 200 12 3.5 165 | 165 | 165 | 245 | 295
90S 2,4,6,8 140 | 100 56 24 50 8 20 M8 90 10 165 | 130 | 200 12 815} 180 | 180 | 175 | 265 | 315
90L 2,4,6,8 140 | 125 56 24 50 8 20 M8 90 10 165 | 130 | 200 12 815} 180 | 180 | 175 | 265 | 340
100L 2,4,6,8 160 | 140 63 28 60 8 24 M10 | 100 12 215 | 180 | 250 15 4 205 | 205 | 200 | 290 | 385
112M 2,4,6,8 190 | 140 70 28 60 8 24 M10 | 112 12 215 | 180 | 250 15 4 230 | 240 | 220 | 325 | 400
1328 246,8 | 216 | 140 89 38 80 10 33 M12 | 132 12 265 | 230 | 300 15 4 270 | 275 | 240 | 365 | 470
132M 246,8 | 216 | 178 89 38 80 10 33 M12 | 132 12 265 | 230 | 300 15 4 270 | 275 | 240 | 365 | 510
160M 2468 | 254 | 210 | 108 42 110 12 37 M16 | 160 15 300 | 250 | 350 19 5 320 | 320 | 285 | 440 | 620
160L 2468 | 254 | 254 | 108 42 110 12 37 M16 | 160 15 300 | 250 | 350 19 5 320 | 320 | 285 | 440 | 675
180M 246,8 | 279 | 241 121 48 110 14 | 425 | M16 | 180 15 300 | 250 | 350 19 5 355 | 380 | 310 | 470 | 700
180L 2,4,6,8 279 | 279 | 121 48 110 14 425 | M16 | 180 15 300 | 250 | 350 19 5 355 | 380 | 310 | 470 | 740
200L 2468 | 318 | 305 | 133 55 110 16 49 | M20 | 200 19 | 350 | 300 | 400 19 5 395 | 410 | 335 | 525 | 775
225S 4,6,8 356 | 286 | 149 60 140 18 53 M20 | 225 19 400 | 350 | 450 19 5 435 | 470 | 370 | 580 | 820
295M 2 356 | 311 149 55 110 16 49 M20 | 225 19 400 | 350 | 450 19 5 435 | 470 | 370 | 580 | 815
46,8 356 | 311 149 60 140 18 53 M20 | 225 19 400 | 350 | 450 19 5 435 | 470 | 370 | 580 | 845

S 2 406 | 349 | 168 60 140 18 53 | M20 | 250 | 24 | 500 | 450 | 550 19 5 490 | 490 | 380 | 635 | 930
46,8 406 | 349 | 168 65 140 18 58 | M20 | 250 | 24 | 500 | 450 | 550 19 5 490 | 490 | 380 | 635 | 930

2808 2 457 | 368 | 190 65 140 18 58 M20 | 280 24 500 | 450 | 550 19 5 550 | 580 | 410 | 698 | 981
46,8 457 | 368 | 190 75 140 20 | 67.5| M20 | 280 24 500 | 450 | 550 19 5 550 | 580 | 410 | 698 | 981
280M 2 457 | 419 | 190 65 140 18 58 M20 | 280 24 500 | 450 | 550 19 5 550 | 580 | 410 | 698 | 1032
46,8 457 | 419 | 190 75 140 20 | 67.5| M20 | 280 24 500 | 450 | 550 19 5 550 | 580 | 410 | 698 | 1032
3155 2 508 | 406 | 216 65 140 18 58 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1185
46,810 | 508 | 406 | 216 80 170 22 71 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1215
315M 2 508 | 457 | 216 65 140 18 58 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1295
46,810 | 508 | 457 | 216 80 170 22 71 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1325
3151 2 508 | 508 | 216 65 140 18 58 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1295
46,810 | 508 | 508 | 216 80 170 22 71 M20 | 315 28 600 | 550 | 660 24 6 630 | 645 | 535 | 885 | 1325
455M 2 610 | 560 | 254 75 140 20 | 67.5| M20 | 355 28 740 | 680 | 800 24 6 730 | 720 | 700 | 1065 | 1495
46,810 | 610 | 560 | 254 95 170 25 86 M24 | 355 28 740 | 680 | 800 24 6 730 | 720 | 700 | 1065 | 1525
9551 2 610 | 630 | 254 75 140 20 | 67.5| M20 | 355 28 740 | 680 | 800 24 6 730 | 720 | 700 | 1065 | 1495
46,810 | 610 | 630 | 254 95 170 25 86 M24 | 355 28 740 | 680 | 800 24 6 730 | 720 | 700 | 1065 | 1525
400 2 686 | 710 | 280 85 170 22 76 M24 | 400 36 940 | 880 | 1000 | 28 6 806 | 810 - 1075 | 1820
46,8 686 | 710 | 280 | 120 | 210 28 100 | M24 | 400 36 940 | 880 | 1000 | 28 6 806 | 810 - 1075 | 1881

Bxcellence in Electric Drives and Power Generation




www.bevi.com

BEVI Nord AB BEVI A/S, Danmark BEVI Norge ASS
Kontaktviige:n 8 Baldarsbuen 14 Ulvenvalan 80 B
SE-901 33 Limad DK-2640 Hedehusene NO-0581 Ol

Tel. +46 80 70 44 30 Tal, +45 3967 35 05 Tel. +4T 22 07 BE 50
Fax +46 B0 13 &8 £0 Fax +45 3067 56 60 Fax +47 2272 1859
E-mail: bevinord @bevi.se E-mall: bevi@bevi.dk E-mail: infa il bewd.no
www.bevi.se wwrw. bavl.dk WWW.

Bevivagen 1, SE-384 30 Blomstermala

Telefon: +46 499 271 00 « Fax +46 499 200 08
E-mail: sales@bevi.se « production @ bevi.se

BEVI Finland OY AB

Hannuksangess 8
FI-022710 Espon

Tel. +358 9 IT08 1210
Fax +388 8 2708 1219
E-mail: e @ bend fi
www.bavl.fl

BEVI Est O0
Pamu mnt. 238
EE-11624 Talinn

Tel, #3727 BEZA 755
Fax +372 E828 754
E-rmall: b @ bevi.ce
www.bavlea

BEVI UAB
Sawanoriu 218
LT422300 Vilnlus

Tal, +370 5 2811 112
Fax +370 5 2032 177
E-mal: infa@bevi It
www bevilit

BEVI CHINA

Raoam B01

201 ¥in Jingiao Road
Pudang Maw District
20306 Shanghai

Tl +86 21 508E 5200
Fa +86 21 B0E2 5202
E-mail; safes @ bedon
www. bevl.on



